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QUESTION 1

A solution developer needs to enhance a message flow with node information to aid in problem resolution, should there
be a failure within the flow. Consider the following flow, named "OrderProcess".

lef

ORDERS.

e 7
IN \ UpdateOrderDB CreateShippinglnfo CalculatePrice TO.SHIPPING

i)

=

ORDER.ERROR

In the 3 Comaute nodes, UpdateCrderDB, CreateShppinginfo and CalculstePrice, the solution developer inserts the following statemerts as the first
2 lines of ESGL:

SET DutputLocalEnviromment = InputLocalEnvironment;
SET IutputlLocalEnvironment.Node = NodeLshel;

The BuildError Compute, which is linked to the ORDERS.IM Catch termina , has the following ESGL added:

CREATE FIELD OubtputRoot.ZMLNSC.Fail.Location
VALUE MessageFlowLabel ||
LR 1

InputTLocalEnviromnent . Node;

On testing the flow, there is a failure within the CalculatePrice node.

What is the content of the Location tag in the message written to the ORDER.ERROR queue?
A.

B. OrderProcess.

C. OrderProcess.CalculatePrice

D. OrderProcess.CreateShippingInfoD.OrderProcess.Creat eShippinginfo

Correct Answer: A

QUESTION 2

A solution developer creates a new broker instance containing the default execution group. The solution developer
attempts to create a second execution group within the same broker and the operation fails. To correct the issue, the
solution developer must:

A. upgrade the broker because it is running in Trial Edition mode.

B. upgrade the broker because it is running in Standard Edition mode.

C. run the default configuration wizard before creating the second execution group.

D. stop the first execution group from processing messages before the second execution group can be created.

C9530-272 Practice Test | C9530-272 Study Guide | C9530-272 Exam Questions 2/4


https://www.passapply.com/c9530-272.html
https://www.passapply.com/c9530-272.html
https://www.passapply.com/c9530-272.html

VCE & PDF https://lwww.passapply.com/c9530-272.html|
2024 Latest passapply C9530-272 PDF and VCE dumps Download
PassApply.com

Correct Answer: B

QUESTION 3

A healthcare company needs to implement WS-Security integrity message signing for an existing web service flow that
will now be handling sensitive data. Which nodes can the solution developer use to develop this enhancement?
(Choose two)

A. HTTPInput

B. HTTPRequest

C. SOAPInput

D. SOAPRequest

E. SOAPEnvelope

Correct Answer: CD

QUESTION 4

A solution developer needs to determine why the latest update to a message flow does not work as designed. It is
thought that the latest update has not been deployed to the broker. What command can the solution developer use to
determine which BAR file is deployed?

A. mgsilist

B. mqgsireadbar

C. mqsireportbroker

D. mgsireportproperties

Correct Answer: A

QUESTION 5

A company has implemented the following message flow to process orders received:
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The ORDERS.IN node has the Transaction mode set to Yes.

When a failure occurs in the CalculatePrice node it is noticed that the database updates performed in the
UpdateOrderDB node are not rolled back. How should the solution developer modify the flow in order to rollback the
database updates in the event of a failure?

A. Add a Throw node following ORDER.ERROR.

B. Change the Transaction mode of ORDERS.IN to Automatic.

C. Set the Throw exception on database error property on UpdateOrderDB.

D. Insert a TryCatch node between UpdateOrderDB and CreateShippinginfo to handle the error.

Correct Answer: A
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